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RAN-0262
S.Y.B.Com. (Sem.IV) Examination

March / April - 2019

CE425F(1) : Tax Procedure & Practice : Paper-III

Time: 2 Hours ]	 [ Total Marks: 50

k|Q“p : / Instructions

(1)

“uQ¡ v$ip®h¡g  r“ip“uhpmu rhNsp¡ DÑfhlu ‘f Ahíe gMhu.
Fill up strictly the details of  signs on your answer book

Name of the Examination:

 S.Y.B.Com. (Sem.IV)

Name of the Subject :

 CE425F(1) : Tax Procedure & Practice : Paper-III

Subject Code No.: 0 2 6 2

Seat No.:

Student’s Signature

(2) 	âï“.1 afrS>eps R>¡.

(3) 	âï““u S>dZu bpSy>A¡ v$ip®h¡g Ap„L$X$p Ly$g NyZ v$ip®h¡ R>¡.

(4) 	sdpfp S>hpbp¡ õ‘óV$ A“¡ dyØpkf lp¡hp Å¡CA¡.

1.		  V|„$L$dp„ S>hpb Ap‘p¡.		  10

	 1)	 rlkpbp¡“y„ afÆeps L$fh¡fp Ap¡qX$V$ ¼epf¡ L$fphhy„ ‘X¡$?

	 2)	 L$gd 44AD “u Å¡NhpC L$p¡“¡ gpNy ‘X¡$ R>¡?

	 3)	 L$pev$p dyS>b L$p¡C‘Z Qpf Mp¡V$ ApNm M¢Qu S>hp“u R|>V$ S>Zphp¡.

	 4)	 ApL$pfZu hj® 2018-19 dyS>b îu qv$rg‘ ‘V¡$g dpV¡$ “uQ¡“u c¡V$p¡ L$f‘pÓ R>¡ L¡$ L¡$d s¡ L$pfZ 
krls S>Zphp¡.

		  (i)	 A„Ns rdÓ ‘pk¡’u dm¡g ãg¡V$“u c¡V$ ê$p.10,00,000.

		  (i)	 kkfp ‘pk¡’u dm¡g fp¡L$X$ c¡V$ ê$p.51,000.

		  (iii)	 s¡d“p v$pv$p“p„ cpC ‘pk¡’u dm¡g fp¡L$X$ c¡V$ ê$p.1,00,000.

		  (iv)	 s¡d“u ‘Ð“u ‘pk¡’u dm¡g fp¡L$X$ c¡V$ ê$p.80,000.
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2.		  îu â¡d“y„ sp.31.3.2018 “p„ fp¡S> ‘|fp ’sp„ hj®“y„ “ap-“yL$ip“ Mpsy A“¡ h^pfp“u 	 14 
dprlsu ‘f’u ApL$pfZu hj® 2018-19 dpV¡$ ^„^p-ìehkpe“p„ iuj®L$ l¡W$m L$f‘pÓ  
AphL$“u NZsfu L$fp¡.

rhNs Rs rhNs Rs

hudp¡ 40,000 L$pQp¡ “ap¡ 7,40,000

gp¡““y„ ìepS> 10,000 ‘fQyfZ AphL$ 12,000

d|X$u“y„ ìepS> 16,000 kfL$pfu Ådu“Nufu“y„ ìepS> 10,000

‘Npf 54,000

cpXy„$-h¡fp 20,000

dp¡V$f MQp® (Ly$g) 18,000

L$p“|“u MQp® 4,000

dykpafu MQp® 1,00,000

Qp¡¿Mp¡ “ap¡ 5,00,000
7,62,000 7,62,000

		  h^pfp“u dprlsu :

	 1)	 hudp ‘¥L$u ê$p.12,000 A„Ns Æh“ hudp“p„ R>¡.

	 2)	 sp.1.4.2017 “p„ fp¡S> dp¡V$f“u Okpfp bpv$ qL„$ds ê$p.1,50,000 lsu. 20% Okpfp¡  
dS>f¡ dm¡ R>¡. dp¡V$f“p¡ h‘fpi 1/3 A„Ns NZhp¡.

	 3)	 sp.1.4.2017 “p„ fp¡S> Ål¡fps A„N¡ ê$p.70,000 “p¡ MQ® Q|L$ìep¡. Ap“u Akf ‘p„Q  
hj® ky^u fl¡hp“u R>¡.

	 4)	 sp.1.1.2018 “p„ fp¡S> ê$p.6,88,000 “u qL„$ds“p„ “hp e„Óp¡ MfuÛp, S>¡ A„N¡ dykpafu  
MQ® ê$p.12,000 ’ep¡, S>¡“p¡ kdph¡i D‘f S>Zph¡g ê$p.1,00,000 “u dykpafu MQ®dp„  
’ep¡ R>¡. e„Óp¡ ‘f 20% Okpfp¡ dS>f¡ dmu iL¡$.

	 5)	 ApL$pfZu Ar^L$pfuA¡ ‘p.h.2017-18 “u OpgMp^ ê$p.32,000 dpÞe fpMu R>¡.

					     A’hp
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2.	(A)	 qL$ó“p hL$ugps“u â¡¼V$uk L$f¡ R>¡. A“¡ s¡Ap¡ fp¡L$X$“p„ ^p¡fZ¡ rlkpbp¡ fpM¡ R>¡. 	 9 
sp.31.3.2018 “p„ fp¡S> ‘|fp ’sp„ hj®“y„ AphL$ ÅhL$ Mpsy “uQ¡ dyS>b R>¡.

AphL$ Rs ÅhL$ Rs

bp.Ap. gpìep 1,12,000 Ap¡qak“p kp^“p¡“u 
Mfuv$u

2,40,000

Akugp¡ ‘pk¡’u au
            2015-16
            2016-17
            2017-18

5,000
10,000

21,60,000

dp¡V$fL$pf“p MQp® 1,40,000

Akugp¡ sfa’u
dm¡g c¡V$

63000 Ap¡qak MQp® 262000

Akugp¡ ‘pk¡’u gp¡“ 50,000 L$d®QpfuAp¡“p¡ ‘Npf 14,51,000

Q|L$h¡gp AphL$h¡fp 65,000

gp¡“ ‘f ìepS> 11,000

âp¡.a„X$dp„ apmp¡ 61,500

gp¡“ ‘fs L$fu 1,50,000

bp.Ap.gB Nep 19,500

24,00,000 24,00,000

		  h^pfp“u dprlsu :

		  (1)	 dp¡V$fL$pf“p¡ Okpfp¡ ê$p.30,000 NZhp“p¡ R>¡.

		  (2)	 dp¡V$fL$pf“p¡ 20% cpN A„Ns h‘fpi dpV¡$ ’pe R>¡.

		  (3)	 ê$p.60,000 “u au dmhp“u bpL$u R>¡.

		  (4)	 Ap¡qak“p„ kp^“p¡ A„N¡ 10% Okpfp¡ dp„X$u hpmhp“p¡ R>¡.

			   Ap.h. 2018-19 dpV¡$“u ^„^p-ìehkpe“u L$f‘pÓ AphL$“u NZsfu L$fp¡.

	 (b)	 "d|X$u “ap' “p„ iuj®L$ l¡W$m“u Mp¡V$ ApNm M¢Qu S>hp“u A“¡ dp„X$u hpmhp“u  
Å¡NhpC-kdÅhp¡.		  5
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3.		  l¡sg“u “uQ¡ S>Zph¡g rhNs ‘f’u Ap.h. 2018-19 dpV¡$ AÞe kp^“p¡“u L$f‘pÓ 

		  AphL$ ip¡^p¡.			   14

	 1)	 rdÓ ‘pk¡’u dm¡gu brnk ê$p.21,000

	 2)	 g¡ML$ sfuL¡$ dm¡gu fp¡eëV$u ê$p.20,000

	 3)	 "A' rg.“p L$fbpv$ qX$b¡ÞQk® ‘f dm¡g ìepS> 

		  ê$p.17,468. (T.D.S.: 20.60%)

	 4)	 "B' rg.“p L$fbpv$ qX$b¡ÞQk® ‘f dm¡g ìepS>

		  ê$p.21,528. (T.D.S.: 10.30%)

	 5)	 "C' rg.“p 10% L$fbpv$ qX$b¡ÞQk® 

		  ê$p.5,20,000. (T.D.S.: 10.30%)

	 6)	 rhv$¡’u Ådu“Nufu“y„ ìepS> ê$p.28,000.

	 7)	 "D' rg.“p 10%“p„ L$fdy¼s qX$b¡ÞQk® 

		  ê$p.2,69,100. (T.D.S.: 10.30%)

	 8)	 gp¡V$fu“u “¡V$ AphL$ >

		  ê$p.22,112. (T.D.S.: 30.90%)

	 9)	 r‘sp“p„ rdÓ ‘pk¡’u dm¡gu c¡V$ ê$p.34,000.

	 10)	 "E' rg.“p 12%“p L$fdy¼s$ qX$b¡ÞQk® 

		  ê$p.2,38,200. (T.D.S.: 20.60%)

		  D‘fp¡¼s b^u S> Ådu“NufuAp¡ ‘f ìepS> v$f hj®¡ 30 du S|>“ A“¡ 31 du qX$k¡çbf“p„  
fp¡S> dm¡ R>¡. D‘fp¡¼s "C' rg.“p b^p„ S> qX$b¡ÞQk® ê$p.5,20,000 “p„ sp.1.8.2017 “p„ 
fp¡S> h¡Qu v$u^p„ R>¡. A“¡ "D' rg.“p„ b^p„ S> qX$b¡ÞQk® sp.1.1.2018“p„ fp¡S> h¡Qu v$u^p„.

		  L$f‘pÓ Ådu“Nufu Mfuv$hp 12% “p„ v$f¡ ê$p.2,00,000 b¢L$ ‘pk¡’u sp.1.7.2017 “p„  
fp¡S> gp¡“ gu^u. L$f‘pÓ ìepS> DOfphhp“p¡ MQ® ê$p.6667.

					     A’hp

3.	(A)	 îu Aip¡L$“u “uQ¡ Ap‘¡gu rhNsp¡ ‘f’u ApL$pfZu hj® 2018-19 dpV¡$ Ly$g L$f‘pÓ  
AphL$“u NZsfu L$fp¡.		 9

	 1)	 Mp“Nu L„$‘“u“p„ i¡f h¡QpZdp„’u V|„$L$pNpmp“u d|X$u Mp¡V$ ê$p.30,000.

	 2)	 Th¡fps“p„ h¡QpZdp„’u gp„bp Npmp“p¡ d|X$u “ap¡ ê$p.75,000.
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	 3)	 Mp“Nu L„$‘“u“p„ qX$b¡ÞQk®“p„ h¡QpZdp„’u V|„$L$pNpmp“p¡ d|X$u “ap¡ ê$p.60,000.

	 4)	 kË$pL$ue ^„^pdp„’u dm¡g “ap¡ ê$p.1,50,000.

	 5)	 dL$p“ rdgL$sdp„’u dm¡g L$f‘pÓ AphL$ ê$p.90,000.

	 6)	 L$çàeyV$f“p„ ^„^p“u Mp¡V$ ê$p.1,50,000.

	 7)	 L$p‘X$“p„ ^„^pdp„’u “ap¡ ê$p.7,50,000.

	 8)	 ‘pR>gy„ hj® 2016-17 “p¡ AkdprhóV$ Okpfp¡ ê$p.60,000.

	 9)	 ‘pR>gp„ hj®“u kË$pL$ue ^„^p“u Mp¡V$ ApNm gpìep ê$p.75,000.

	 (b)	 c¡V$“u L$f‘pÓsp A„N¡“u Å¡NhpCAp¡ kdÅhp¡.	 5

4.		  V|„$L$“p¢^ gMp¡. (Nd¡ s¡ ÓZ)	 12

	 (1)	 ^„^p-ìehkpe“u AphL$dp„’u dS>f¡ “tl dmsu fL$dp¡.

	 (2)	 ApL$[õdL$ AphL$ A„N¡“u Å¡NhpCAp¡.

	 (3)	 AkdprhóV$ Okpfp¡.

	 (4)	 bp¡ÞX$ hp¡tiN ìehlpfp¡.

	 (5)	 ‘|Óh^y“¡ rdgL$s“u AphL$“u a¡fbv$gu.

English Version

Instructions
(1)	 As per the instruction no. 1 of page no. 1
(2)	 Please answer clearly and point wise.
(3)	 Figures to the right show full marks of a question.

1.		  Answer in brief:		  10

	 1) 	 When the compulsory Tax audit of accounts should be done

	 2) 	 To whom the provision of the sec – 44 AD is applicable

	 3) 	 State any four type of losses to carry forward as per rules.
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	 4) 	 Explain with reasons whether the following gifts are chargeable to tax or  
not for Mr. Dilip Patel for A.Y.2018-19.

	 (i)	  A flat of Rs 10,00,000 from a close friend.

	 (ii)	 Cash gift from his father in law Rs 51000.

	 (iii) 	 Cash gift from a brother of his grand father Rs 1,00,000.

	 (iv) 	 Cash gift from his wife Rs 80 ,000.

2. 		  Find out taxable income from business profession for the A.Y 2018-19 	 14 
from the profit and loss A/c for the year ended on 31-3-2018 and additional 
information  given below of Mr.Prem.

Particular Rs Particular Rs
Insurance 40,000 Gross profit 7,40,000
Int  .on loan 10,000 Miscellaneous 

Income
12,000

Int on capital 16,000 Int on Govt 
securities

10,000

Salary 54,000
Rent- taxes 20,000
Motor expenses (total) 18,000
Legal expenses 4,000
Travelling expenses 1,00,000
Net profit 5,00,000

7,62,000 7,62,000

		  Additional Information:

	 1. 	 Rs 12,000 is life insurance premium includes in the above amount of  
insurance.

	 2. 	 The written down value of motor on 1-4-2017 was 1,50,000. the approvable 
depreciation is 20% consider 1/3 use of motor is for personal purpose.

	 3. 	 On 1-4-2017 Rs 70,000 paid for advertisement . The effect of such amount  
will be up to five years.

	 4. 	 On 1-1-2018 a machinery for Rs 6,88,000 had purchased, for which 
Rs 12,000 paid as travelling expenses. Such amount includes in the above  
Rs 1,00,000 as travelling expenses. 20% depreciation is approved on the 
machinery.

	 5. 	 Rs 32000 as bed debt approved by the assessment officer for the P.Y 2017-18.

OR
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2 	 (a)	 Krishna is practicing as a advocate and keeps the accounts on cash basis.  
She furnishes the following Receipt and payment for the year ended on  
31-3-2018.			   9

Receipts Rs Payments Rs
Balance b/f 1,12,000 Purchase office 

equipments
2,40,000

Fees received :
From clients :
            2015-16
            2016-17
            2017-18

5,000
10,000

21,60,000

Motor car exp 1,40,000

Gift received 
from clients

63000 Office expenses 2,62,000

Loan from clients 50,000 Salary to staff 14,51,000
Paid income Tax 65,000
Int on loan 11,000
Countribution to 
P.F

61,500

Return loan 1,50,000
Balance c/f 19,500

24,00,000 24,00,000

		  Additional information:
	 1. 	 Calculate depreciation on motorcar is Rs 30,000.
	 2. 	 20% part of motorcar is personal use.
	 3. 	 O/S receivable fee is Rs 60,000.
	 4. 	 Write off 10% depreciation on office equipment.
		  Calculate the taxable income from business profession for the A.Y.2018-19.

	 (b)	 Explain : Provision for set off and carry forward under the head capital gains.	 5

3.		  Find out the taxable  Income from  other sources for the A.Y. 2018-19 from  
the details given below of Hetal.	 14

	 1. 	 Rs 21,000 a gift from a friend.
	 2. 	 Rs 20,000 royalty received as an author.
	 3. 	 Rs 17,468 as interest received on Tax-less debentures of ‘A’ Ltd.  

( TDS : 20.60%)
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	 4. 	 Rs 21,528 as interest received on Tax-less debentures of ‘B’ Ltd. 
( TDS : 10.30 %).

	 5. 	 10% Rs 5,20,000 Tax- less debentures of ‘C’ Ltd ( TDS 10.30%).
	 6. 	 Rs 28,000 as interest on Foreign securities.
	 7. 	 10% 2,69,100 Tax free debentures of ‘D’ Ltd , ( TDS : 10.30%).
	 8. 	 Net income from Lottery Rs 22,112 . ( TDS : 30.90%).
	 9.	 Rs 34,000 a gift from father’s friend.
	 10.	 12% Rs 2 ,38,200 tax free debentures of ‘E’ Ltd ( TDS:20.60%).

		  Interest on all above securities was received on 30th June and 31st December. 
Every year on 1-8-2017 all above ‘C’ Ltd debentures of Rs 5,20,000 were sold 
out and on 1-1-2018 all above debentures of ‘D’ Ltd were sold out.

   		  On 1-7-2017 Rs 2,00,000 loan at 12% from bank to purchase taxable securities 
Rs 6,667 paid for collection of taxable interest.

OR

3. 	 (a) 	 From the following details of Mr.Ashok find out total taxable income for  
the A.Y.2018-19.		  9

	 1. 	 Short term capital loss from sale of shares of private company Rs 30,000.
	 2. 	 Long term capital gain Rs 75,000 for sales of jewellery.
	 3. 	 Short term capital gain Rs 60,000 from sales of debentures of private company.
	 4. 	 Rs 1,50,000 profit from speculative business.
	 5. 	 Rs 90,00 taxable income from house property.
	 6. 	 Rs 1,50,000 loss from business of computer.
	 7. 	 Rs 7,50,000 profit from business of cloth.
	 8. 	 Rs 60,000 unabsorbed depreciation of P.Y.2016-17.
	 9. 	 Speculation loss brought down of P.Y.2016-17 Rs 75,000.

	 (b) 	 Explain Provision of taxability of gifts.	 5

4. 		  Write short notes : (any THREE).	 12
	 1.	 Expenses Expressly Disallowed of business – Profession.
	 2.	 Provision on casual Income.
	 3.	 Unabsorbed Depreciation.
	 4.	 Bond washing Transactions
	 5.	 Income from assets transferred to son’s wife.


